Null-Fortsetzung

p(z:y) a — homogen
p(z:y)

)

a<f+1= f(x:y) partiell diff

f(y) =

o o) (Iz + y2)ﬁ/23$p (w1y) — g(xg + yQ)ﬂ/2— 12x
(a* +¢?)
_ Op(ay)  Padp(ey) (2P +yP) Oup () — Br0p (v:y)
(:E2 n y2) B8/2 (x2 n y2) B/24+1 (932 N yz)ﬁ/z +1

(22 +y?) 0,p (z1y) — Bz d,p (w:y) & + 1 homogen

a+1<2<§+1)=6+2="a<6+1

Y et /part diff/keine RA /nicht tot diff
/22§ 12
r cos t|rsin 2 tsint
frsimtq _ TTEOSERNE ) costsint ~¥ 0 = stet in 0:0
r
1 |O\\R 0="1 |IR%00 part diff V1(0:0) = (0:0)
tu:tv 0:0 2
-1 ¢ t
wv+P=1= = uv:uv,:rvﬂiuv=> no RA for uv # 0
L e
Ty 0:0 0:0 .
T="T—=(zly) "1 " Ty 1 :
Ty =y :x2+y”§y:§7é0é not tot diff
3+ xy z? x?y — yx
——— part diff /unstet : ——— part diff /stet/diff? : ———— part diff/stet/dift?
x2+y2 p / x2+y2 p / / x2+y2 p / /
%y ) ) ) y? _ )
——— stet/part diff/grad/nicht tot diff : ——— unstet/RA existiert/undiff
Tty 5ty




2,2 2_ .2
x;lf +yy2 part diff/stet? : xy—; n 32 tot diff/2-part diff/not 2-stet part diff/Hesse unsymm

Ty ]
——~— part diff /unstet
%+ 2 P /

Tcost\rsintq r?costsint

= ————— =costsint N ) = unstet in 0:0
,



